normalized X?

[ normalized x? probability |

chiz Chiz_prob
Entries 2623 Entries 2623
- . v - | Mean 1.164 0.05 - | Mean 0.4529
¢ Lsupey 0.7736 Std Dev 03098
[ S S |
: : . chiz . e pvo
o Entries 2655 1 [Entries 2655
""" Y Mean 1172 0.04 Mean 04519
F [ Std Dev 0.7698 Std Dev 03102
o N — <3 prob
10°F - Entries 2655 0.03 - [Enmes 2655
E . ;| Mean 1171 Mean 0.4523
E : Std Dev 0.7697 | Std Dev. 03103
10f -
e — o 10
E | \u
I 1.05 -
) ‘
. . B . . . 0.95| ‘! - ‘
Nt i “Hl ‘.m ‘. |.‘| n”
0 2 4 6 8 10 12 14 16 18 20 0 010203040 0809 1
x? Prob(xz)
2.5 = 5
c [ A 4AF
T F -
< 2F]-ee el 2 3k
\Y I Q»— E
F ] : : : o °F
1.5F|| === DQM_v0001_R000000001__Global__cmssw1000time__RECO
[ [|| === DQM_v0001_R000000001__Global__mkFitNewOLD1000time__ RECO
[ §|| === DQM_v0001_R000000001__Global__mkFitNewBinsDC1000time__RECO
1H --;-TIHW-F--':---'-- BT -1 R
[« . . . 4 E 4
L . . . . —2F
0.5 - rmmprmrrr s = -3F
: -af :
o 0 ) ! h o -5F ! h ' .
= | ] | = 5E1 et - -
& 1osk of E & : ] ]
1 ! i 11T [ [ -
T - 'l 1 u osE{-} - -+ - -1 l
095 1 § o 1
=3 -1 0 1 3 -3 - - 0 1 2 3
n TP n (PCA to beamline)
A 2.5 T A
2 I : 218
S< ofeeeenes EREREREES frannaeas EREPEPEPD < 1.6
\Y [ . - v
+ 1.4
= 1.2

3
5 H
A 4 .
- - e
o L : ;
aF r . 4 .
© F . .
voomabees AR (TN (A e
_2__ ........ :. .......... : .........
| e ; e
| PR : [
° [ i
F-HT SETRRPR HANE, JF N § A §
o
e e ereeeee et

i
T T[T [T [T T I [T TIT T

Ratio

107 1072

-1
AR(track, je:‘LtS)



	Contents
	Page 1


